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All answers should be written on the ANSWER SHEET.

HHED - B 4 7
Section A — each question carries 4 marks

1) %Sp)ﬁquX*@/ %D%pz’”y —2x-3 = I_J+EIE _J“_{x‘i' y EIJ{E

If 5p>¢™ and % p>q ™ are like terms, find the value of x+y.

2) WA +x"—x+2 o

Factorize x’ +x*—x+2.

3) FHWIRELR3x+2y =5F15x -8y = -3 fHACI A B > 3K A AHYALAE
If two straight lines 3x+2y =5 and 5x-8y=-3 intersect at point 4, find the co-ordinates of 4.

4) R—TE IR 92x =Tx+39 (YEIREE
Find the number of real roots of the quadratic equation 92x* =7x+39 .

5) MR NHEHET KGN Ha BEIER - (BEHFLTBFTR)

Two fair six-faced dice are thrown. Find the probability in fraction that the sum is odd.

6) K TOIARER 1N <120x + 11 AVESEE S E -
Find the number of integral roots of the quadratic inequality 11x*> <120x+11.

7) [@ 7T ABC 2 —EHEM =AW > LBAC=90° > —Af ABCHIE » 55 AC=7 » BC=14 >
K BD (y{H
In Figure 7, ABC is a right-angled triangle, ZBAC =90°, AD is the height of triangle ABC. If AC =7,
BC =14, find the value of BD.
A
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Figure 7
8) FHxy RBIEEHHME6(x+4y)=x"+y"+153 » Kx+y HIHE -
If x and y are positive integers and satisfying 6(x+4y) = x’+y>+153 , find the value of x+y.

~ HHE5E ~
~ End of Section A ~
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All answers should be written on the ANSWER SHEET.

LS S o
Section B — each question carries 5 marks

9) EH=APN=BBEIAES T 9 KEZ=AaVHEHE
If the lengths of three sides of a triangle are 5, 7 and 9 respectively, find the area of the triangle.

10) % a~ b~ cHldERIEREE > Kt a+b+c+d =100fRAVEH -

If a, b, c and d are positive integers, find the number of solutions of the equation a+b+c+d =10.

1) EHR AT 6 [EEREL 17 BUEREUE 4 > Kz = BHvay ME -
If the remainder of 6 times of a 3-digit number divided by 17 is 4, find the smallest possible value of the
3-digit number.

12) [& 12 FENVIR = ABD ~3:#1 BD #HYJF: C - B4 AB=CD =10F1£4BC =60° »>K AD H{H -
In Figure 12, a circle is inscribed by triangle ABD and touches BD at C. Given that 4B=CD =10 and
ZABC =60°, find the value of AD.

13) # 5 MEENHR T > KN B 10 YRR o (BEFUTEER)

5 fair six-faced dices are thrown. Find the probability in fraction that the sum is 10.

14) ERHTY x HI7772 x° + ax + 312 = O H W {E (EEE B » oK o IVEKME -

If the equation x” +ax+312=0 has two positive integral solutions for x, find the greatest possible value
of a.

15) 15t » ABCDE FEINBETIEN, » #5 LCAD : ZABC: ZAED =2:5:6 > 3K LZACD HJ{E °
In Figure 15, ABCDE 1is a cyclic pentagon. If ZCAD:ZABC:ZAED=2:5:6 , find the value of
ZACD.

2x—2_32y+3 :5 .
16) #4 )  K3x—yHYME -
2437 =35

2x—2 _ 32y+3 — 5
If , find the value of 3x—y.

2 +3"% =35
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Figure 12 Figure 15

AR AERE R - Bt EERE D HEERM - WHER /R T EEGT 8 SRt RS RN -
BEEAPRAFTR » MEZIRA AR RSP © BREAEERASN - RRIHE AL - SERAEALR A4S T 8L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

~ LER5E ~
~ End of Section B ~
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All answers should be written on the ANSWER SHEET.

(SR IRES= W)
Section C — each question carries 7 marks

17) ERVUALEFRL 13 67 1~ BREA 17 7 2 ~ BREA 19 &R 3 > SKeZ BV A (E -
If the remainders of a 4-digit number divided by 13; 17 and 19 are 1, 2 and 3 respectively, find the largest
possible value of this number.

18) K CCP +CCP +C,CP +CiCY HyfE -
Find the value of C,C,> +C,C;* +C,C;> +CiCy° .

19) [& 19 o > ABCD 2R —E#EIN - 1 B Bi{F— V4R > WAt CD HATZ VIR 4 - EAI
AC=CD=BD=2 > 3K AABD {{JTfif% -
In Figure 19, ABCD is inscribed in a circle. Draw a tangent from Point B and extend CD to cut the
tangent at 4. Given that 4C =CD = BD =2, find the area of AABD .
D
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Figure 19

20) #Ha~bHc BIFAHH abe=2— > Ka+b+cHFR/NME

If a, b and c are non-negative numbers and abc = 2% , find the smallest value of a+b+c.

~ BEE ~
~ End of Paper ~

AR AERE R - Bt EERE D HEERM - WHER /R T EEGT 8 SRt RS RN -
E;TLM‘EEt%T UEE%E'EUA/E RV - BREFHEEIASN - HRREREAL - SRR e TR 8 -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.
Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



